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1 Measurement probabilities

Consider the state
|¥) =3i|+2)+4|-2).

a) Normalize this state and denote the result by |¢) .

b) Assume that a particle in this state is subjected to a SG 2 measurement. Determine the
probabilities of the two outcomes.

c) Consider the state |¢) := ei?h/)) where @ is any real number. Express this in terms of
{I+2),|-2)} . Assume that a particle in this state is subjected to a SG £ measurement.
Determine the probabilities of the two outcomes.
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2 Kets in terms of {|+2

a) Express |+

c) Express |+

d) Express |{—
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3 Measurement probabilities

a) A particle in state |+&) is subjected to a SG £ measurement. Use operations on the kets

to determine the probabilities of the outcomes.

b) A particle in state |—g) is subjected to a SG & measurement. Use operations on the

kets to determine the probabilities of the outcomes.
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